Wheel Lock Assembly

Gearless/Brushless

NOTE: Gearless/ Brushless motors were made available on-chair as an option for Storm Arrow, Ranger X
and Torque 11/2/98. On 7/1/99 Gearless/ Brushless motors became standard for Storm Arrow only.

/
G/B suspension arm

Wheel Lock Assembly

|

reference only. N
O |
= Jf g |
T s |

< P \
\ S \ |
\ Iy N
/H\\N D— - ( \I_%/) |
(13) ~*

|
|
|

—wfhétgcﬂnil-kry are | 1 W\I;;I Lock Assembly E
ltem Quantity Per
Number | Note | Part Number |Description Package | Assembly
1 1021406 Screw, Hex Head (1/4-20 x 1-1/4") 1 1
2 1028687 Screw, Hex Head (1/4-28 x 3/4") 1 3
3 1026033 Washer, Nylon (1/4 x 1/2 x 1/16") 1 9
4 1021408-NLA | NLA - Handle, Wheel Lock, Black - Right 1 1
4 1021409-NLA | NLA - Handle, Wheel Lock, Black - Left 1 1
5 47376X024 Tip, Rubber Wheel Lock Handle, Black 1 1
6 7930334-NLA | NLA - Locknut (1/4-28) 25 3
7 7930323-NLA | NLA - Package, Locknut (1/4-20) 25 1
8 1078222-NLA | NLA - Bracket, Wheel Lock, Black - Right 1 1
8 1078223 Bracket, Wheel Lock, Black - Left 1 1
9 1026105-NLA | NLA - Spacer, Nylon (1/4 x 7/16 x 1/8") 1 1
10 1031833-NLA | NLA - Shoe, Wheel Lock 1 1
11 1018733-NLA | NLA - Link, Stop, Black 1 1
12 B 1079266-NLA | NLA - Wheel Lock Assembly, GB - Right 1 1
12 B 1079267-NLA | NLA - Wheel Lock Assembly, GB - Left 1 1
13 1045267 Screw, Hex Head w/ Patch (1/4-20 x 3/4") 1 2
14 1078199-NLA | NLA - Nut 1 1
15 A 1079252-NLA | NLA - Wheel Lock Assembly w/ Mounting Hardware 1 1
- Right
15 A 1079253-NLA | NLA - Wheel Lock Assembly w/ Mounting Hardware 1 1
- Left
NOTE: A - Includes items 12-14.

B - Includes items 1-11.




